normalized X2

[ normalized x? probability |

[ T T T
0.08f- -
0.06F- 1o ekensieeis
0.04f--+
0.02
o o 1.0 j i | i j i i
2 £ plg |||||| [0 ‘III; ‘ H ‘lI T
Rt el .| |||.||||||.||’. '||I|I'|
ty o | HHHHI ”I: I ||| ‘l”.
B0 S ST S N O 11 U ||||| Il
P02 4 6 8 10 12 14 16 18 20 '00. 20304050607 0809 1
X2 Prob(xz)
=== DQM_TT__originalREDO
= DQM_TT__signal_option0
wmmmm DQM_TT__signal_optionl
weses DQM_TT__signal_option2
A 5
k<]
£ 45
T4
3.5
3
2.5
2
1.5
o 05 !
3 | H
b4 !
0953 3
n
A A E
2 2 18
< 3< 1.6
\" \2
1.4
1.2
1
0.8
0.6
0.4
0.2
o ; : o OF
T B : T
@ 1 uip : ox
T H(TIT ER 095
B 3 2 : 0 N
= 2 -3 -2 -1
10 1 10 10 10 10 AR(rack elé)




	Contents
	Page 1


